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(EEHEANLLE)
BTTE IH% | #ExE% |AEREFEES BTHE TiEH | KXEH | HERHFESE
(I15) (A) (FA) (Ti5) (AN) (FA)

KHFHER —TEH 6 169 444595|dt EiA —TH 4 37 28,774
XK#HE®E ZTH 13 249 589,943 & — T H 1 26 b
XK#HE®E =TBH 6 64 92092 &= Z T H 2 77 X
KHFRER WTEH 19 175 208697 & =T H 13 229 403,805
XKHFRER RTEH 13 102 123261|f &= M TH 3 70 129,839
AX#&m —TE 28 250 304748 = E T H 2 161 x
K#HESE ZTBH 41 411 563,110[[f & X T H 4 74 75,187
X#H#Ed =TBH 32 340 521,829 &= £ T H 7 66 94,284
K#HFm mTEH 27 323 722,822 & J\ T H 24 275 406,982
X#HEd ATH 20 168 248568l £ — T H 4 41 66,171
X&EH —TEH 19 187 361,608t £ — T H 5 42 36,446
X#Ech —TH 7 212 481398t £ =T B 10 92 130,716
XK#HED =TH 8 67 92767|th £ ™ T H 4 30 100,161
A#HEBE —TBH 41 499 676622|it £ #H T H 3 82 104,560
X#®E —TEH 31 388 561,139|it £ X T H 3 15 16,691
X#EH®E =ZTE 12 265 599,006\t £ + T H 4 61 88,929
K#HEWE WTH 28 611 1147946l £ J\ T B 11 150 281,553
XK#HEWE ATH 10 102 116,753||IR/E & —TH 2 216 X
K#HMA ATEH 2 15 X|mEE ZTH 115 2,444 9,293,979
XK#HEAE £TH 17 416 2314874|[REE =TH 5 75 511,633
KXK#HFIdX —TEH 2 16 x||m # —TBH - - -
A#HFdE ZTE 1 6 x| & =ZT8BH - - -
K#FIdX =TEH 5 28 30793 & =T H - - -
K#FIdX mTHE 1 4 x|lm # M®mTEH - - -
K#FIHX ATEH 4 53 90207\ #& ETH - - -
K#HFIdX ATEH 7 65 112,995 #& < T B 1 86 X
AHEAE—TE 5 76 192816|fkm e —TH 3 50 612,901
KXHEABT=TEH 2 19 x|pime =TH 45 919 2,484,697
THME —TEH - - -|BEE =TH - - -
THME ZTH - - -|BESE mTH 16 317 1,066,330
B =TEH - - -|BESE £ TH - - -
THME WTEHE - - -|EEE ATH - - -
B ETEHE - - -|EESE £t TH - - -
EIHME AKTEHE - - -||X #F #h X § 785 12,372 34,281,233
Bie —TEH 9 181 728,720||%& 5 BT 1 12 x
BiE =—TH 8 212 923,737||7@ ] i 1 5 X
W F —TEH 1 4 x ||t 38 By 3 33 75.283
W ¥ =ZTBH 1 4 x|B B 3 1 & 5 73 66,326
W ¥ =TBH 3 31 63,513||H & A 1 A By 1 4 x
W F mTEH 3 49 135079||EHERA—TH 4 34 38,323
THMOHELAE - - -|BEREAF=THE - - -
HEA —TEH 11 167 256,220 HEFAHM=T B - - -
HEA ZTH 2 27 x|HE#HAAHMTH - - -
mEA —TEH 3 30 27565|HEFAAETBE 2 56 X
mEA ZTH 5 50 40604||F & K F Hr - - -
BEA =TH 4 36 40340 DK —TH 4 25 39,160
mEXA WTH 3 15 300408 DK = TH 8 164 315911
BEA ATH 2 15 x|#eDK =TH 8 91 122,311
BEA AXTH 5 40 2468l B —TBH 6 68 106,467
b A —TEH 2 11 x|+ & ZTBH 28 412 779,827
b EIA ZTH 6 51 66089F & =T H 2 18 X
b EA =ZTH 4 94 148,397 AMNE—TH 1 10 X
wmEA —TEH 8 342 1,331,185|FE AR =T B 2 29 X
wEA ZTH 4 38 79615|A MR —TH 3 64 40,401
tEA —TH 3 60 64282|A MR ZTH 16 247 446,221
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ETE IHH | (8% |BEERHREE || BTE THHM | KXEH |HemdtmiEE
(I18) (N) (BFA) (Ti5) (AN) (FMA)

AR =TEH 1 4 x|gk & —TBH 10 56 68,098
AHNE MTHE - - - & =TH 8 114 198,630
AMNE HETEH 8 188 221838|lFk & =T H 13 210 396,893
AMNE KTEH - - -lEA<E —TH 10 156 291,655
mFTER —TEH 3 33 39396|| I AH ZTH 11 79 85,006
mT®R ZTE - - -lEA<EM =ZTH 15 180 671,898
BFH® =ZTH 1 20 x|[@AE —TH 17 188 269,022
tF+® —TEH - - -lEARE ZTH 22 205 395,331
dtFE =TEH 3 69 42016978 < =T B 28 703 1,109,902
tF+H® =TEH 2 24 x || 75 4 TH 25 328 532,565
HIIBET —TH - - -lmx<# —TH 25 389 492,762
RIJIBT ZTH - - -l ZTH 31 414 679,374
it —TH 24 333 506,779|[@ /< =T H 37 469 2,665,744
ittt —TH 30 753 1,081,691|ff R — T B 12 91 106,509
RES —TEH 1 6 x| ARE ZTHE 6 92 216,987
HEAN ZTH 3 47 75898|ff R =T B 4 41 43,007
HE® =TBH 3 19 22,621||feh 7 46 TH 7 67 70,321
HESX WMTEH 1 5 xX|[FALF —TEH 20 276 504,861
HE® ETH 3 46 74054 FHF ZTH 43 902 2,166,975
mEAX —TBH 2 24 x[FA+ =TH 8 69 94,408
MES ZTEH - - -[Ta¥% mTH 16 458 2432138
BEA =TH 1 24 x|l A —TH 19 302 502,860
BEAS WMTH 1 17 x|k O ZTH 35 418 722,846
BEA ATH 5 36 36553 @ =TH 39 929 1,848,252
e —TEH 3 34 101,251||R&X 0 —TBH 2 11 x
s ZTH - - -l|E&xn0 =ZTBH 7 70 70,064
tt&E =TH 11 83 125578|fR&X 0 =TH 3 24 22,390
s WETH 1 4 x|ZE)Il —TBH 15 171 290,662
tih&s HTH 9 81 104,130((Z Il —Z T B 32 857 2,773,483
R o X A 211 3195 5223441|FEFH —TH 4 31 42,243
m#Htas —TE 30 455 1088115||EH ZTH 19 315 604,132
Hita = TBH 10 138 265787|FE s — T B 10 99 135519
B#ts =TB 12 176 390301\ H — T H 28 252 430,634
RS TEH 23 399 549579\ H =T H 14 123 141,830
B#ts ATEHE 45 560 1,400674||F 5 H — T B 3 32 51,144
Bt AKTEH 17 334 1151486||FaEEH — T B 3 42 36,442
s —TH 12 106 109482||FEEH =TH 4 51 50,021
wis =TH 23 281 519,516||78 % H TH 4 42 29,259
wmits =TH 29 286 483401|lFaEEH R T B 3 44 71,508
A mMTHE 10 74 92831|[FEHFEMA NTH 1 8 x
d#a —TEH 22 229 299,154|[F8 5 H + T H 2 9 x
d#a —ZTH 19 251 597,937|[F@EH /\TH 2 20 X
P A KB 13 1,003 5437143 B — T B 10 122 206,362
B HA —TE 17 146 19762158 B Z T B 4 26 38,920
B A ZTB 6 32 30215 B =T H 7 49 41,510
¥ BH =TBH 3 20 18327 H ™ T B 4 32 41,030
¥ H T H 8 69 57288l H E T B 4 106 99,945
B A RETE 5 27 26,167\’ HAB—TH 3 80 189,874
B B KTBH 6 46 42,068|[EEHABTZTH 4 172 304,621
APFH —TH 36 332 1,473876||# s H — T B 4 21 13,872
AFH ZTH 44 685 1,789,134|# 8 A — T B 4 19 28,117
APFH =TH 9 131 226,203\ F s H =T H 10 121 208,069
PIHZEE—TEH - - -IlE B #h B &t 1,070 15,865 38,784,952
PHEE_-TE - - -
PHEE=ZTE - - - & it 2,066 31,432 78,289,626
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